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In this question, all unnamed circles are unit circles.

G8.1 £47, ABCD tha fi £ a+4+3 » fathip . A D
If the area of the rectangle ABCD is a + 4 \/_
find the value of a .

Find the radius of the small circle at the centre of the D C c

square. G827 &= £75 PQR e 7}%16+b\/_
1993 FI4.3 25 Fb i
< > If the area of the equilateral triangle PQR is
PORS = = &2 % > i\ 6+ b~/3 , find the value of b
+ .
q';.~=ml}\'7]m——43_:ic’.’}icﬁﬂf_‘gio , IInd the value o
PQRS is a rectangle. If C is the radius of the

tF? ABCD £~ #£ i 8(W2+1) s =)
fp 2 aye & Flend s o

In the figure, ABCD is a square of side 8(«/5 +1).

smaller circle, find the value of C .
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If the area of the circle EFG is g—kc * 4\/_

1995 HG10 find the value of C .
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In the figure, the radius of the quadrant and the diameter of the G84 F TR F ER Y AR BRlha S P AR
large semi-circle is 2. Find the radius of the small semi-circle. g A 6+dn Kod iE o

If all the straight lines in the diagram below are

fo\.
<

-n\y

1995 F15.3 common tangents to the two circles, and the area of a
el o Lic ez = BRI E o Aok bt - the shaded part is 6 + dn, find the value of d .
Flend & 818 &) FI 248> W

ROME s Fe L MIWSSL 1997 HG9

In the figure, L1 and L> are tangents to the three I BP B2 srom 2 > S Mik- = 4 /?T( e
circles. If the radius of the largest circle is 18 R TRy (180+180\/_)cm KT .

and the radius of the smallest circle is 8, In the figure, three identical circles with radius r cm are

find the value of ¢, where c is the radius of the circle W . tightly enclosed in a triangle. If the perimeter of the triangle

is (180+180v/3 Jom, find the value of T .
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In Figure 2, three equal circles are tangent to
each other, and inscribed in rectangle PQRS,
find the value of % (Use V3=1.7and give (y\ 0,
the answer correct to 2 decimal places) \ /
S A B R

2002 HGS
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Cap b LR C1 2 3 L E C2~Cs 0
F PQ=24> £FICscrm ff (B~ m=3)>

P 0, ol 0s Q
In figure 2, PQ, PO1, O1Q are diameters of semi-circles Ci, Cz2, C3 with centres at
01, Oz, Os respectively, and the circle C4 touches Ci, C2, and C3.
If PQ = 24, find the area of circle Ca. (Take = 3).
2007 FG4.4
4r@- > AABC ¥ - % = £25 > AB=BC=20cm z

% tan/BAC =§ . S AABC ihp o [f] chd i %

rem: fr eiig o c P

In Figure 1, AABC is an isosceles triangle, AB = BC = 20 cm and tan ZBAC =% .

If the length of radius of the inscribed circle of AABC is r cm, find the value of r .
2013 HGS A

B*® »AABC i - &%= 44> #+¢ AB=AC -

BC=240 - = &= AABC ip &Rl chE j5 8 24 »

F AB gk B o B ¢
In the figure, AABC is an isosceles triangle with AB = AC, BC = 240.

The radius of the inscribed circle of AABC is 24. Find the length of AB .
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Four circles with radii 1 unit, 2 units, 3 units and r
units are touching one another as shown in the figure.
Find the value of r .
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Three circles of radii 2, 3 and 10 units are placed inside another big circle in such
a way that all circles are touching one another.
Determine the value of the radius of the big circle .
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In the figure below, there are 4 identical

circles placed inside an equilateral triangle.

If the radii of the circles are 1 unit, what is

the value of the area of the triangle?

2017 HI13 A

4] > O &_[f] ADB i[f].w - BC 2 CD 4 % 4_

Fl7, %8B % D % - OC//AD » OA=15 - s

% AD+0C=43> #CD & - D
As shown in the figure, O is the centre of the circle 0

ADB. BC and CD are tangents to the circle at points

B and D respectively. OC // AD, OA = 15.

If AD + OC =43, find the length of CD .
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In Figure 1, three unit circles are placed FW RS (F Rk % il ;
inside an equilateral triangle ABC such ) e BX c
that any circle is tangential to two sides In the following figure, ABCD is a rectangle. The two semi-circles are identical
of the triangle and to the other two I and they are tangent to each other. If AB = 2 and BC = 6, find the area of the

B : ¢ shaded part in terms of &t .

circles. Find the area of AABC .
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In the figure, four circles of radii 8, 5, 5
and r are touching each other externally.
Find the value of r .
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ABCD 4_[f12;m ABE 2 CED z £ ]335 *»
EAFIPN o ¢ awFlaf s 1 em? 2 AB//

CD:> £X 4, ABE 2 CED g ff 2 fro E

ABCD is a circle while ABE and CED are

semi-circles touching each other at E inside

the circle. Given the area of circle is 1 cm? and c \3?/ A

PUPaLEeu G 49 2 25 L PQ ak o
As shown in Figure 1, a common tangent touches
a large circle and a small circle at P and Q
respectively. Given that the two circles touch
each other at C and their radii are 49 and 25
respectively, find the length of PQ. ®- Figure 1

AB // CD , find the sum of the area of the semi-
circles ABE and CED .
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